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Math 2568, Quiz #11, Spring 2015 Name K E

Instructions: Show all work. Some problems will instruct you to complete operations by hand, some can

be done in the calculator. To show work on calculator problems, sh

ow the commands you used, and the

resulting matrices. Give exact answers (yes, that meansifractions, square roots and exponentials, and

not decimals) unless specifically directed to give a decimal answer.
be done by hand even if not specifically directed to. Be sure to com

AN

1. Find the similarity transformation, if it exists, of the matrix 4 =

diagonalizing the matrix.
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This will require some operations to
plete all parts of each question.
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2. Find the similarity transformation for the matrix B = [_02 g] that converts this matrix into a

similar rotation matrix. Then use that matrix to find the angle of rotation.
“Az-® ti0=0
A=-2A 41070

)\, 2+ d-40 . 2%J-3¢ 2t bl Y
=il = ( ?)l
- 2 2

C= 40 g Asamb Al

Ce - 1 SRR
3 1

C= (i [);r _Zﬁl O= o5 (Vi) | 2990 o~
dio /U6
| .4 ?l.(ao

oo 6 —-we’]
s
‘.%39 Coo ©




